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6A|l Bh 30.2 22.0 =E BE mE me
sAl ®B 33.0 285 xE BE =R me
108 58] 21.0 20.4 =IE BE RER mR
128 =Y 8.0 8.3 xE BE =R me
2H 5 10.5 10.0 RE B =l e
4ERIEEE _
oH DO BOD SS KFEHK
(mg/) (mg/1) (mg/l) | (MPN/100ml)
EE - - - -
EHE(75%1E) - 9.5 1.1(1.6) 24 -
48] 70 9.6 1.2 14 -
6A| 66 8.4 <05 14 -
8A 6.7 7.2 0.5 18 —
10A] 72 8.8 1.6 13 -
1281 71 12 0.9 13 -
2A] 72 11 2.0 74 -
BEEE
LN INES S o AEIOL| WMFE BiKE  |[7FILKEE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
(Bl 001LUF | FE#EH | 001LLF [ 0058LF [0.01LLF [ 0.0005LLF
I i5{E - - - - - - -
47 - - - - - - -
6H - - - - - - -
8H - - - - - - -
10| - - - - - - -
12A] - - - - - - -
2H - - - - - - -
TOO0A e | 1,2-000 [1,1-05808[YX-1,2-250[1,1,1-F) 50
PCB g, | PEERE | Drg | zFly AIFLY OT4y
(mg/l) | (mg/I) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
(gl JERH [0.02L0LTF | 0.002LLF | 0.004LLF | 0.02LLF | 0.04LLF 1LUF
Ty - - - - - - -
47 - - - - - - -
6H - - - - - - -
8H - - - - - - -
10| - - - - - - -
12A] - - - - - - -
2H - - - - - - -
1,1,2-ky4 [FU2ARFrSH00z| 1,3-290A = S mpate FARA
aaIsy | TFLY FLY oroxy FI5L e P %
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
2 #(E10.006 L 0.03LLF | 0.01LLF | 0.002LLF [0.006LLF| 0.003LLF 0.02LLF
iy - - - - - - -
47 - - - - - - -
68 - - - - - - -
8H - - - - - - -
10| - - - - - - -
12A] - - - - - - -
2H - - - - - - -




HEBNEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEME] 001LLF [001LLF| 10UF 0.8LLF 1LLF
—weEl - [ - - - -
47 - - - - -
64 - - - - -
8H - - - - -
10H - - - - -
12H - - - - -
2H - - - - -
EDHIEE
N—A~FH RILLT IV
e EER e S 2HEE | JAAKLL | TUZ
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
ERE - 3.0 0.053 - - - -
48[ - 39 0.027 - - - -
64 - - - - - - -
8A - 4.0 0.040 - - - -
10H - 2.9 0.051 - - - -
12H - - - - - - -
28 — 1.3 0.092 — - - -
BiLH HAHERY | UURR ; e i s
IT/=N| kS cobD el > AR BREER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
TEE - - 35 - - - -
48[ - - 1.4 - - - -
6B - - 1.3 - - - -
sA| - - 2.4 - - - -
10A| - - 438 - - - -
128 - - 1.3 - - - -
28 - - 0.8 - - - -
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s8A| m® 33.0 29.0 =RE BE me REBRR
108 55 21.0 215 =IE BE ®me mR
128 =Y 8.2 9.3 == BE me |me
2R 5] 10.5 9.5 xRE KEE RELEE i
4FRIFIER _
oH DO BOD SS KEEHK
(mg/1) (mg/I) (mg/1) | (MPN/100ml)
EE - - - -
THE (75%IE) - 9.7 3.0(4.4) 7 -
4K 7.7 10 4.4 s -
6HA] 90 13 2.2 2 -
8A 7.7 8.0 1.7 3 -
108 7.4 8.7 26 3 -
128 75 11 1.7 1 -
28 7.3 7.7 5.6 32 -
RBEEIER
VN INESS o AEIOL| WMFE BiKE |[7LFILKEE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EAE] 001LLF | FE#HH | 001LLF [ 005LLF [ 0.01LLF [ 0.0005LLF
1 - - - - - - -
4K - - - - - - -
68 - - - - - - -
8H - - - - - - -
10H - - - - - - -
12H - - - - - - -
28 - - - - - - -
Sonns wee | 1,200 [11-S90n|P2R-1,2-590(1,1,1-+)40
PCB 52 mig ik % & nTay | TFLo Tl R
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HEA&EE] EHRH 1002LLF | 0.002LLF | 0.004LLF [ 0.02LLF | 0.04LLF 1LF
1 - - - - - - -
4K - - - - - - -
68 - - - - - - -
8H - - - - - - -
10H - - - - - - -
12H - - - - - - -
28 - - - - - - -
1,1,2-ky4 [FUZAR|FrSH00x| 1,3-290A = S mpate FARA
o4y | TFLY | FLr  |aFaKky FOIL| YRDY )%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HA{EI0.006LLTF10.03LLF| 0.01LLF [0.002LLF [0.006LLF| 0.003LLF 0.02LLF
FHE[ - [ - - - - - -
4K - - - - - - -
68 - - - - - - -
8H - - - - - - -
10H - - - - - - -
12H - - - - - - -
28 - - - - - - -




HEBEEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEME] 001LLF [001LLF| 10UF 0.8LLF 1LLF
—weEl - [ - - - -
47 - - - - -
6H4 - - - - -
8H - - - - -
10H - - - - -
12H - - - - -
2H - - - - -
EDHIEE
N—~F4 FILLTIL
Ummmeg| TEXR £ i £#fr | yoORILL FER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
TREl - 3.6 0.15 - = = =
4A - 5.5 0.18 - - - -
64 - - - - - - -
sA| - 4.8 0.21 - - - -
108 - 25 0.097 - - - -
12H - - - - - - -
28| - 15 0.11 - - - -
BiLH HAHERYE | YRR ; = i S
IT/=| xS coD el > AE EXiEER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) () (4 S/cm)
FH{E - - 4.9 = = - -
48[ - - 5.4 - - - -
6B - - 4.8 - - - -
sA| - - 4.3 - - - -
10A| - - 48 - - - -
12A| - - 25 - - - -
28] - - 77 - - - -
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Xz |KURCC)| KE(C) | HEUKER | iR =X 2=
48] Bh 21.5 18.5 == BE BAf® mR
68|l Bh 30.2 21.7 =®E |FHEYZU me mR
s8A| m® 33.0 29.0 =RE BE RELEE REBRR
108 55 21.0 21.0 =IE BE RER mR
128 =Y 8.2 7.6 == BE e A=k |me
28 55 10.5 10.0 =B BE REBE |
4FRIFIER _
oH DO BOD SS KEEHK
(mg/1) (mg/I) (mg/1) | (MPN/100ml)
EE - - - -
EHE(75%1E) - 9.2 2.0(2.5) 14 -
4K 7.4 9.0 25 11 -
64 15 8.9 1.0 9 —
8A 15 15 0.9 8 —
10A 7.5 8.2 1.9 13 -
128 7.4 12 1.3 8 -
2R 7.2 9.4 4.1 36 -
RBEIER
VN INESS R ANEIOL| WMFE BiKE  |[7LFILKEE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EA&E] 001LLF | FE#HH | 001LLTF [ 005LLF [ 0.01LLF [ 0.0005LLF ERH
1 - - - - - - -
4K - - - - - - -
68 - - - - - - -
8H - - - - - - -
10R - - - - - - -
128 - - - - - - -
28 = = = = = = =
Sonns wee | 1,2-0U0 [11-S90n|P2R-1,2-590(1,1,1-+)50
PCB gy | PRERR | nrgy |'zrly | mzFiy AT4Y
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
El EB/E (00280 T 000280 F | 0.004LLF [ 0.02LLF | 0.04LLF 1LF
E - - - - - - -
4K - - - - - - -
68 - - - - - - -
8H - - - - - - -
10R - - - - - - -
128 - - - - - - -
28 = = = = = = =
1,1,2-ky4 [FUZAARFrSHY00I| 1,3-290A = S mpate FARA
aaTsy | TFLY FLY oroxy FI5L e P %
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HA{EI0.006LLTF10.03LLF| 0.01LLF [0.002LLF [0.006LLF| 0.003LLF 0.02LLF
[ FEE - [ - - - - - -
4K - - - - - - -
68 - - - - - - -
8H - - - - - - -
10R - - - - - - -
128 - - - - - - -
28 = = = = = = =
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(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
Ml 001LLF [001LLF| 10UF 0.8LLF 1LLF
o - 2 3 :
47 - - - - -
64 - - - - -
8H - - - - -
10H - - - - -
12H - - - - -
2H - - - - -
EDHIEE
N—A~FH \ RILLT IV
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE - 3.7 0.091 0.10 - - -
4R - 5.0 0.083 <0.04 - - -
64 - - - - - - -
8A - 4.6 0.070 0.23 - - -
10H - 2.9 0.089 0.07 - - -
12H - - - - - - -
28 - 2.1 0.12 0.07 — - -
BiLH HIHERTE | U BRM : e i s
IT/=| kS coD el > AE EXiEER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) () (uS/cm)
F{E - - 4.0 = = - -
48] - - 4.1 - - - -
6B - - 2.6 - - - -
sA| - - 3.0 - - - -
10A| - - 56 - - - -
128 - - 1.4 - - - -
2H - - 7.4 - - - -




